CAFE LIGHTING fLIVING

Asenly Instructions,

SOPHIA-BESIDE TABLE

Component Checklist

REF NAME QTyY
A Table top 1
B Leg frames 2
C Handles 2
D Bolt M4 4
E @)\mnmmmmm‘ Bolt M6 6
F Flat Washers 6
G @ Spring Washers 6
H % Allen key 1

cafelightingandliving.com.au
shopcafelightingandliving.com.au



Putting Me Together

Carefully turn table top (A)

upside down on a soft level surface.
(use a rug or blanket underneath on
hard surface flooring)

two leg frames) in the center of
the hole on steel bottom frame.

@ Place the leg frames (B) (both

Insert the bolt(E)+spring washers(G)+flat
@ washer(F) into the holes and proceed to

screw legin a clockwise direction by allen
key(H)

Repeat for the rest leg frame.

A\

Once all two legs are securely tightened,
carefully turn beside table upright.

@ e Unscrew handles(C) that is inserted to inside
of drawer fronts (screwdrive not included)

e |nsert bolt (D) and
thread through drawer from back side of drawer s.

e Screw on handles (C) making sure
not to overtighten.




CAFE LIGHTING fLIVING

Asenly Instructions,

SOPHIA-BESIDE TABLE

Attach each mounting bracket securely to
the back top edeg of the furniture or mirror
using the shorter screw(M4x20).

Determine where the furniture is to be
placed and mark the location on the wall for
the mouting bracket screw. Mark a hole
approximately 3cm below the bracket
mounted to the edge of furniture.

Drill a8mm hole in the wall. Press the plastic
anchor into the hole and gently tap until the
flange on the anchor is against the wall surface.

Position the bracket over the anchor and 8mm hole in wall
use the longer screw(M4x35) to securely

attach the bracket to the wall.

Place the furniture so the bracket on the
back edge is in line with bracket on the wall.

@ Lace an end of the nylon restrain strap down
through each bracket. Bring both ends together
and slide the beaded end of the strap through
the keyhole shaped slot in the other end until
snug. Pull down on the beaded end until it snap
locks into the keyhole slot.

@ To double lock, return the beaded end back
through the keyhole as shown.

e Check to make sure the strap is securely
laced and locked to the bracket.

NEVE-R put ‘a TV

REF PART NAM E QTY on this furniture.
Cj Strap 2
4/ Mounting bracket 4

=

Children have died from furniture tipover.

Screw M4 x 20 4 This furniture type is at high risk of toppling over:

e ALWAYS secure furniture with anchor device.

« NEVER allow children to stand, climb or hang
on drawers, doors, or shelves.

s NEVER open more than one drawer at a time.

Wall p|ug 4 « Remember to place heavy items down low.

'I"'(@

g, Screw M4 x 35 4

olelelele

cafelightingandliving.com.au



